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MATHEMATICS FOR COMMERCE

Time: Three Hours Maximum: 50 Marks
SECTION-A (5 Marks)
Answer ALL questions :
ALL questions carry EQUAL marks 5x1=5) ,
1 Find 5% of 200.
®H 15 : @) 10
(iii) 20 (iv) 25
2 A matrix A is said to be non singular if
o ® j4 =0 i) [Al=0
(i) |A|#1 iv) |14l =1 _
3 Find the derivative of the function y = x? — 4 with respect o x.
i 2x (i) 2x-4
(i) 0 - - (iv) -4
4  fudv=
O w+fvdu : () w+ fudv
i) ww— [vdu (iv) ww— fudv
5 The variable added to make the inequality into equality is known as
(1)  surplus variable (ii) slack variable
(iii} decision variable (iv) constraint variable

SECTION - B (15 Marks)
Answer ALL Questions
ALL Questions Carry EQUAL Marks (5x3=15)

6 a . Find the interest value of Rs. 2,000 due in 8 months at 12% simple interest.
OR
b Find the sum of all numbers between 200 and 400 divisible by 7.

' _[2 3 11 0 2.
7 2 1a=[% J|awdB=[7 0 Z|Findas.
. OR
b  Find the inverse of 4 = [2 2 .
3 5
8 a  Find the derivative of (x% — 7)2.
OR

b Ifthe demand function isp = 4 — 5x for that valie of x will elasticity of demand be unitary?

9 a Integrate x logx with respect to x.
OR
b Integrate e7* with respect to x.

10 a  Solve by graphical method: Minimize Z = —3x; + 4x;, subject to
X1+ Xy < 4,2x1 + 3x2 = 18 and X1, %y 2 0.
© OR
b Write Standard form of LPP.
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SECTION -C (30 Marks)
Answer ALL questions
ALL questions carry EQUAL Marks (5x6=30)

Express 0.0444... as a fraction.

OR
Find the sum of money required to buy a leasehold estate for 20 years yielding a return of
Rs. 120Q per annum, if the compound interest rate is 6% per annum.

4 0 2
Find the inverse of 4 = [2 10 2] by using Adjoint Matrix Method.
3 9 1

: OR
Solvex + 2y — z = 2,3x — 4y + 2z = 1,—x + 3y — z = 4, using Crammer’s Method.

Findj—zwhen x = 4t,y = 2t2

OR
The total cost function of a firm is given by € = 0.04g® — 0.9¢% + 10q + 10. Find (i)
Average cost and Marginal cost and (ii} Value of q at which average variable cost is
minimum.

. . . dx
Using partial fractions, Solve [ Ty i
: OR
. lxdx _ 1
Prove that [ — = Zlog 2.

Solve by graphical method: Maximize Z = 3x; + 2x, subject to
X=X X1, Xy +xy23andxy,x; 20,

OR
Use simplex method to solve Maximize Z = x; + X, + 3x3 subject to
3%, + 2%, +x3 <3, 2% +x; +2x3 < 2 and Xy, %3, %3 = 0.

Z-1-7 END



